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Corrigendum

Hydromagnetic flow of fluid with variable viscosity in a uniform tube with peristalsis
Abd El Hakeem Abd El Naby, A E M El Misiery and I I El Shamy 2003 J. Phys. A: Math.
Gen. 36 8535–8547

The previously published versions of equations (2.5), (2.6), (2.10) and (2.11) are incomplete.
The corrected equations are as follows:
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The terms that were omitted are negligible under our approximation (δ = 0) and do not affect
our calculations.

In equation (3.2), h̄ should read as h̄2, as follows:

Q̂ = q̄ + πch̄2 (3.2)

In equation (4.26), α2 should read as α, as follows:
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These are typographic errors and do not affect our calculations.

The text preceding equation (4.16) should read as: ‘Differentiating equation (4.9) with respect
to r yields’
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